

J.H.LYNCH + SONS

#### **BASE CONTRACT**

ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Seventy Five Thousand  AND Zero  (\$ 75,000.00  DOLLARS  CENTS	0.1	Α	\$ <u>7,500.00</u>
THE SUM OF: DOLLARS   AND Zero CENTS   CENTS	425	FT	\$ <u>9,775.00</u>
THE SUM OF:  Four Hundred  OCENTS  (\$ 400.00  THE SUM OF:  DOLLARS  DOLLARS  DOLLARS  DOLLARS  DOLLARS  DOLLARS	2	EA	\$ <u>800.00</u>
THE SUM OF:  Two Thousand Nine Hundred Fifty  AND Zero  (\$ 2,950.00  DIAMETER UNDER 24 INCHES  TO DOLLARS  CENTS	2	EA	\$ <u>5,900.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:	85	СУ	\$ <u>3,825.00</u>
THE SUM OF:  Forty Five  DOLLARS  AND Zero  (\$ _45.00	3,770	СУ	\$ <u>169,650.0</u> 0
THE SUM OF:  Forty Five DOLLARS  AND Zero CENTS  (\$ 15.00 ) PER UNIT	10	СҮ	\$ <u>450.00</u>
THE SUM OF:  One Hundred Thirty Five  One Zero  (\$	15	СУ	\$ <u>2,025.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:	20	СУ	\$_20.00
THE SUM OF:  Forty Five  DOLLARS  AND Zero  (\$ 45.00 ) PER UNIT	10	CY	\$ <u>450.00</u>
THE SUM OF:  Nine Hundred  DOLLARS  AND Zero  (\$ 900.00 ) PER UNIT	1	EA	\$ <u>900.00</u>
THE SUM OF:  Nine Hundred  DOLLARS  AND Zero  (\$ 900.00 ) PER UNIT	3	EA	\$ <u>2,700.00</u>



ITEM DESCRIPTION & BID PRICE		EST QTY.*	UNIT	TOTAL
ITEM 150: ORDINARY BORROW	_	250	CY	\$ 2,750.00
THE SUM OF:	-	2,450	CY	\$ <u>31,850.00</u>
THE SUM OF:  Two Hundred Forty  AND Zero  (\$ 240.00 ) PER UNIT		10	СУ	\$ <u>2,400.00</u>
THE SUM OF:  Thirty  AND Zero  (\$ 30.00 ) PER UNIT		10	TON	\$ <u>300.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 170: FINE GRADING AND COMPACTING - SUBGRADE AREA    THE SUM OF:	8,330	SY	\$ <u>129,115.00</u>
THE SUM OF:	4	EA	\$ <u>28,400.00</u>
THE SUM OF: Six Thousand Two Hundred Fifty  AND Zero  (\$ 6,250.00  DOLLARS  OF THE SUM OF:  OF	1	EA	\$ 6,250.00
THE SUM OF:  Five Hundred Twenty Five  AND Zero  (\$ 525.00 PER UNIT	17	EA	\$ 8,925.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Five Hundred Fifty  DOLLARS  AND Zero  (\$ _550.00	1	EA	\$ <u>550.00</u>
THE SUM OF:  Eight Hundred  OCENTS  (\$ 800.00 ) PER UNIT	1	EA	\$ 800.00
THE SUM OF:  Five Hundred Twenty Five  AND Zero  (\$ _525.00 ) PER UNIT	3	EA	\$ <u>1,575.00</u>
THE SUM OF:  Five Hundred Twenty  DOLLARS  AND Zero  (\$ 520.00  DER UNIT	6	EA	\$ <u>3,120.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 223.2: FRAME AND GRATE (OR COVER) REMOVED AND DISCARDED  THE SUM OF:  One Hundred DOLLARS  AND Zero CENTS  (\$ 100.00 ) PER UNIT	3	EA	\$ 300.00
THE SUM OF:  One Thousand Eight Hundred Ninety	1	CY	\$ <u>1,890.00</u>
THE SUM OF:  Two  DOLLARS  AND Fifty  (\$ 2.50  DESCRIPTION OF DEPTH SEDIMENT  THE SUM OF:  DOLLARS  DOLLARS  OF DEPTH DE	300	FT	\$ <u>750.00</u>
THE SUM OF: DOLLARS   DOLLARS	5	SF	\$ <u>400.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 241.12: 12 INCH REINFORCED CONCRETE PIPE         THE SUM OF:	65	FT	\$ <u>13,000.00</u>
THE SUM OF:	25	FT	\$_5,000.00
THE SUM OF:  Four Hundred Twenty Five DOLLARS  AND Zero CENTS  (\$ ) PER UNIT	5	EA	\$ <u>2,125.00</u>
THE SUM OF:	1	EA	\$ <u>200.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Twenty One  DOLLARS  AND  Fifty  (\$ 21.50  PER UNIT	250	СУ	\$ <u>5,375.00</u>
THE SUM OF:   DOLLARS	1,400	SY	\$ <u>14,000.00</u>
THE SUM OF:  Fifty Five  DOLLARS  AND  Zero  (\$ _55.00  DER UNIT	35	SY	\$ <u>1,925.00</u>
THE SUM OF:  Zero  DOLLARS  AND	6,200	LB	\$ <u>2,170.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  One Hundred  DOLLARS  AND Zero  (\$	25	MGL	\$ <u>2,500.00</u>
ITEM 450.23: SUPERPAVE SURFACE COURSE - 12.5 (SSC - 12.5)         THE SUM OF:       One Hundred Forty       DOLLARS         AND Zero       CENTS         (\$140.00) PER UNIT	360	TON	\$ <u>50,400.00</u>
THE SUM OF:  One Hundred Sixty Five  DOLLARS  AND Zero  (\$ 165.00  DER UNIT	180	TON	\$ 29,700.00
THE SUM OF:  One Hundred Five  DOLLARS  AND Zero  (\$ 105.00  DER UNIT	410	TON	\$ <u>43,050.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:	20	TON	\$ 2,300.00
THE SUM OF:  Two Hundred Seventy Five  DOLLARS  AND Zero  (\$ 275.00 PER UNIT	120	TON	\$ 33,000.00
THE SUM OF:	545	GAL	\$ <u>1,280.75</u>
ITEM 453: HMA JOINT SEALANT         THE SUM OF:	3,125	FT	\$_625.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Three Hundred Seventy Five  AND  Zero  (\$ _ 375.00) PER UNIT	1	TON	\$_375.00
THE SUM OF:  Three Hundred Twenty Five  AND  Zero  (\$ _325.00	15	TON	\$ <u>4,875.00</u>
THE SUM OF:  Five  DOLLARS  AND  Zero  (\$) PER UNIT	200	FT	\$ <u>1,000.00</u>
THE SUM OF:  Forty  DOLLARS  AND  Zero  (\$ 40.00  ) PER UNIT	5,430	FT	\$ <u>217,200.0</u> 0



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Fifty Eight  AND  Zero  (\$	340	FT	\$ <u>19,720.00</u>
THE SUM OF:  One Hundred  DOLLARS  AND Zero  (\$ 100.00  DER UNIT	12	FT	\$ <u>1,200.00</u>
ITEM 509: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAMPS –  STRAIGHT  THE SUM OF:  Fifty Six DOLLARS  AND Fifty CENTS  (\$	560	FT	\$ <u>31,640.00</u>
THE SUM OF: Sixty Two DOLLARS  AND Fifty Ser Unit	330	FT	\$ <u>20,625.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Four Hundred Seventy Five  AND  Zero  (\$ 475.00  DOLLARS  OCENTS	11	EA	\$ <u>5,225.00</u>
THE SUM OF:  Two Hundred Seventy  AND Zero  (\$ 270.00  DOLLARS  OCENTS	80	EA	\$ <u>21,600.00</u>
THE SUM OF:  Twenty Seven  DOLLARS  AND  Zero  (\$ 27.00  DER UNIT	3,070	FT	\$ <u>82,890.00</u>
THE SUM OF:  One Hundred Five  DOLLARS  AND  Zero  (\$	9	EA	\$ <u>945.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:	1,060	FT	\$ <u>8,480.00</u>
THE SUM OF:	200	FT	\$ <u>1,600.00</u>
THE SUM OF:  Two Hundred Ten  DOLLARS  AND  Zero  (\$	40	FT	\$ <u>8,400.00</u>
ITEM 697.1: SILT SACK         THE SUM OF:       DOLLARS         AND       Zero       CENTS         (\$ 75.00       ) PER UNIT	11	EA	\$ <u>825.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.	HINIT	TOTAL
THE SUM OF: Seventy Two  AND Zero  (\$ 72.00  PER UNIT	4,14	O SY	\$ <u>298,080.0</u> 0
ITEM 701.1: CEMENT CONCRETE SIDEWALK AT DRIVEWAYS    THE SUM OF:	1,22	O SY	\$ <u>87,840.00</u>
THE SUM OF:  Eighty Four  AND Zero  (\$ 84.00  PER UNIT	330	SY	\$ <u>27,720.00</u>
THE SUM OF:  Two Hundred Twenty Five  AND  Zero  (\$ 225.00 ) PER UNIT	OOLLARS 114 CENTS	TON	\$ <u>25,650.00</u>

IFB # DPW-21-B-027 Page 17 of 34



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Two Hundred Ten  DOLLARS  AND  Zero  (\$ 210.00  DER UNIT	9	SY	\$ 1,890.00
THE SUM OF:  Two Hundred Thirty  AND  Zero  CENTS  (\$ 230.00  DECORATIVE PAVEMENT  TOO HUNDRED  DOLLARS  DOLLARS	150	SY	\$ 34,500.00
THE SUM OF:  Two Hundred Ten  DOLLARS  AND Zero  (\$ 210.00  DET UNIT	2	EA	\$ <u>420.00</u>
THE SUM OF:	630	СУ	\$ <u>37,170.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  One  DOLLARS  AND  Twenty Five  (\$ 1.25  ) PER UNIT	5,070	SY	\$ <u>6,337.50</u>
THE SUM OF:       Seven       DOLLARS         AND       Fifty       CENTS         (\$ 7.50       ) PER UNIT	860	FT	\$ <u>6,450.00</u>
THE SUM OF:    Ninety	15	СУ	\$ <u>1,350.00</u>
THE SUM OF:	125	SF	\$_4,500.00



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Thirty Seven  AND  Fifty  (\$ 37.50  THE SUM OF:  DOLLARS  DOLLARS  DOLLARS  DOLLARS  DOLLARS  DOLLARS	6	EA	\$ 225.00
ITEM 786.109: JUNIPER – 'BLUE RUG' 12-15 INCH   THE SUM OF:	3	EA	\$ <u>112.50</u>
THE SUM OF:  Twenty Seven  DOLLARS  AND  Fifty  (\$ 27.50  PER UNIT	8	EA	\$ <u>220.00</u>
THE SUM OF:	4	EA	\$ <u>120.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF: DOLLARS   AND Zero CENTS   S O PER UNIT	25	EA	\$_500.00
ITEM 804.3: 3 INCH ELECTRICAL CONDUIT TYPE NM – PLASTIC –(UL)  THE SUM OF:  Seventy  DOLLARS  AND Zero CENTS  (\$ 70.00 ) PER UNIT	160	FT	\$ <u>11,200.00</u>
THE SUM OF:  One Thousand Five Hundred  ONE Thousand Five Hundred	3	EA	\$ <u>4,500.00</u>
THE SUM OF:  Ten Thousand Five Hundred  AND  Zero  (\$	1	LS	\$ <u>10,500.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 832: WARNING-REGULATORY AND ROUTE MARKER – ALUM. PANEL (TYPE A)  THE SUM OF:	230	SF	\$ 2,944.00
ITEM 847.1: SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY - STEEL  THE SUM OF:  One Hundred Twenty Five DOLLARS  AND Zero CENTS  (\$ 125.00 ) PER UNIT	40	EA	\$ 5,000.00
ITEM 848.1: SIGN SUP (N/GUIDE)+RTE MKR W/2 BRKWAY POST ASSEMBLIES - STEEL  THE SUM OF:  Two Hundred Fifteen  DOLLARS  AND  Zero  CENTS  (\$ 215.00	2	EA	\$ <u>430.00</u>
ITEM 852: SAFETY SIGNING FOR TRAFFIC MANAGEMENT           THE SUM OF:	650	SF	\$ <u>17,550.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
ITEM 852.11: TEMPORARY PEDESTRIAN BARRICADE           THE SUM OF:         Twenty Seven         DOLLARS           AND Fifty	100	FT	\$ 2,750.00
THE SUM OF:  One Thousand Two Hundred Fifty  AND  Zero  (\$ 1,250.00  DOLLARS  PER UNIT	4	EA	\$ <u>5,000.00</u>
THE SUM OF:  One Hundred  DOLLARS  AND  Zero  (\$ 100.00  DER UNIT	8	EA	\$ 800.00
THE SUM OF:	140	DAY	\$ <u>1,120.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Twenty Five  DOLLARS			
AND CENTS	140	DAY	\$ 3,500.00
(\$ 25.00 ) PER UNIT  ITEM 859: REFLECTORIZED DRUM			
THE SUM OF:  Zero  DOLLARS  AND  Twenty  CENTS	8,890	DAY	\$ <u>1,778.00</u>
(\$) PER UNIT  ITEM 859.1: REFLECTORIZED DRUMS WITH SEQUENTIAL FLASHING WARNING LIGHTS  THE SUM OF:		DAY	\$ 1,536.00
AND Forty CENTS  (\$ 2.40 ) PER UNIT	640	DAY	\$_1,000.00
ITEM 864.04: PAVEMENT ARROWS AND LEGENDS REFLECTORIZED WHITE (THERMOPLASTIC)  THE SUM OF:			
SevenDOLLARS ANDFiftyCENTS	170	SF	\$ <u>1,275.00</u>
(\$ <u>7.50</u> ) PER UNIT			



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Five  DOLLARS  AND  Zero  (\$ _5.00  DER UNIT	170	SF	\$ 850.00
THE SUM OF: Sixty Five DOLLARS  AND Zero CENTS  (\$ _65.00 ) PER UNIT	42	EΑ	\$ 2,730.00
THE SUM OF:  One  DOLLARS  AND  Five  CENTS  (\$ 1.05	2,400	FT	\$ <u>2,520.00</u>
THE SUM OF:  Five  DOLLARS  AND  Zero  (\$	470	FT	\$ <u>2,350.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  One  DOLLARS  AND  Five  (\$ 1.05  PER UNIT	3,050	FT	\$ 3,202.50
ITEM 867.112: 12 INCH REFLECTORIZED YELLOW LINE (THERMOPLASTIC)           THE SUM OF:	150	FT	\$ <u>750.00</u>
THE SUM OF:  Zero  DOLLARS  AND  Fifty  CENTS  (\$ _0.50  ) PER UNIT	2,400	FT	\$ <u>1,200.00</u>
THE SUM OF:  Four  DOLLARS  AND  Zero  (\$ 4.00  ) PER UNIT	470	FT	\$ <u>1,880.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL
THE SUM OF:  Zero  DOLLARS  AND Fifty  (\$ 0.50  PER UNIT	3,050	FT	\$ <u>1,525.00</u>
ITEM 869.12: 12 INCH REFLECTORIZED YELLOW LINE (EPOXY)    THE SUM OF:	150	FT	\$_600.00
THE SUM OF:	8	EA	\$_456.00
ITEM 874.2: TRAFFIC SIGN REMOVED AND RESET         THE SUM OF:       Seventy Five       DOLLARS         AND       Zero       CENTS         (\$ 75.00       ) PER UNIT	22	EA	\$ <u>1,650.00</u>



ITEM DESCRIPTION & BID PRICE	EST QTY.*	UNIT	TOTAL	
ITEM 874.4: TRAFFIC SIGN REMOVED AND STACKED				
THE SUM OF:  Twenty Five  DOLLARS			s 25.00	
AND Zero CENTS	1	EA	\$ 20.00	
(\$ <u>25.00</u> ) PER UNIT				
ITEM 874.8: TRAFFIC SIGN REMOVED AND DISCARDED				
THE SUM OF:  Twenty Five  DOLLARS	8	EA	\$_200.00	
AND Zero CENTS				
(\$ <u>25.00</u> ) PER UNIT				
ITEM 999: POLICE SERVICES				
THE SUM OF:  Seventy Thousand DOLLARS	1	LS	\$ 70,000	
AND <u>Zero</u> CENTS	-		7	
(\$				
TOTAL DID. DACE CONTDACT.				
TOTAL BID – BASE CONTRACT:	l Think . O			
One Million Seven Hundred Forty Nine Thousand Six Hundred	i inimy S	even	DOLLARS	
AND Twenty FiveCENTS				
(\$ <u>1,749,637.25</u>			)	
Amount in Figures				



#### **ADD-ALTERNATE #1**

ITEM 120.1: UNCLASSIFIED EXCAVATION	$\overline{}$		<u></u>
THE SUM OF:  Forty Five DOLLARS  AND Zero CENTS  (\$ _45.00 ) PER UNIT	411	СУ	\$ <u>18,495.00</u>
ITEM 151: GRAVEL BORROW			
THE SUM OF:         DOLLARS           AND         Zero         CENTS           (\$ 13.00         ) PER UNIT	274	СУ	\$ <u>3,562.00</u>
ITEM 170: FINE GRADING AND COMPACTING – SUBGRADE AREA			
THE SUM OF:	1,061	SY	\$ <u>21,220.00</u>
ITEM 381.3: SERVICE BOX ADJUSTED			
THE SUM OF:	14	EA	\$ <u>2,800.00</u>



ITEM 451: HMA FOR PATCHING			
THE SUM OF:  Two Hundred Seventy Five  DOLL	28	TON	\$ <u>7,700.00</u>
AND Zero CE	INTS		
(\$ <u>275.00</u> ) PER UNIT			
ITEM 506: GRANITE CURB TYPE VB - STRAIGHT			
THE SUM OF: Thirty Six DOLL	ARS 1,443	FT	\$ 51,948.00
AND Zero CE		"	3 01,040.00
(\$ <u>36.00</u> ) PER UNIT			
ITEM 506.1: GRANITE CURB TYPE VB - CURVED			
THE SUM OF: Fifty Eight DOLL	ARS	-	s 1,972.00
AND Zero CE	NTS 34	FT	\$ 1,972.00
(\$ <u>58.00</u> ) PER UNIT	į		
ITEM 509: GRANITE TRANSITION CURB FOR PEDESTRIAN CURB RAN STRAIGHT	1PS –		
THE SUM OF: Fifty Six DOLL	ARS 127	FT	\$ <u>7,175.50</u>
AND Fifty CE	NTS		
(\$ <u>56.50</u> ) PER UNIT			



ITEM 509.1: GRANITE TRANSITION CURB FOR PEDESTRIAN RAMPS - CURVED			
THE SUM OF: Sixty TwoDOLLARS  ANDFiftyCENTS  (\$ 62.50) PER UNIT	31	FT	\$ <u>1,937.50</u>
ITEM 514: GRANITE CURB INLET – STRAIGHT			
THE SUM OF: Four Hundred Seventy Five DOLLARS	4	EA	\$ 1,900.00
AND Zero CENTS	4	LA	\$ <u>1,500.00</u>
(\$ <u>475.00</u> ) PER UNIT			
ITEM 516: GRANITE CURB CORNER TYPE A			
THE SUM OF:  Two Hundred Thirty Five DOLLARS	18	EA	s 4,230.00
AND Zero CENTS	18	EA	3 4,200.00
(\$ 235.00 ) PER UNIT			
ITEM 580: CURB REMOVED AND RESET			
THE SUM OF:  Twenty Eight DOLLARS			. 24 222 00
AND Zero CENTS	869	FT	\$ <u>24,332.00</u>
(\$) PER UNIT			



ITEM 582: CURB CORNER REMOVED AND RESET				
THE SUM OF: One Hundred Twenty Five	DOLLARS		:	
AND Zero	CENTS	6	EA	\$ 750.00
(\$ 125.00 ) PER UNIT				
ITEM 594: CURB REMOVED AND DISCARDED				- · · · ·
THE SUM OF: Nine	DOLLARS			4.050.00
AND Zero	CENTS	217	FT	\$ <u>1,953.00</u>
(\$ <u>9.00</u> ) PER UNIT				
ITEM 701: CEMENT CONCRETE SIDEWALK				
THE SUM OF: Ninety	DOLLARS			A 65 350 00
AND Zero	CENTS	725	SY	\$ <u>65,250.00</u>
(\$ _90.00) PER UNIT				
ITEM 701.2: CEMENT CONCRETE PEDESTRIAN CURB RAMP				
THE SUM OF: Ninety Five	DOLLARS			4 045 00
AND Zero	CENTS	11	SY	\$ <u>1,045.00</u>
(\$ <u>95.00</u> ) PER UNIT				
ITEM 702: HOT MIX ASPHALT SIDEWALK OR DRIVEWAY				
THE SUM OF: Three Hundred	DOLLARS			4 200 00
AND Zero	CENTS	16	TON	\$ <u>4,800.00</u>
(\$ 300.00 ) PER UNIT				



ITEM 751: LOAM BORROW			
THE SUM OF:  Fifty Nine  DOLLARS  AND  Zero  (\$ _59.00	55	СУ	\$ <u>3,245.00</u>
ITEM 765: SEEDING			
THE SUM OF: One DOLLARS	497	SY	\$ <b>621.25</b>
AND Twenty Five CENTS	437	31	\$ <u>021.20</u>
(\$ 1.25 ) PER UNIT			
ITEM 847.1: SIGN SUP (N/GUIDE)+RTE MKR W/1 BRKWAY POST ASSEMBLY – STEEL			100711
THE SUM OF: One Hundred Twenty Five DOLLARS	3	EA	\$ <u>375.00</u>
AND Zero CENTS			
(\$ 125.00 ) PER UNIT			20.
ITEM 874.2: TRAFFIC SIGN REMOVED AN RESET			
THE SUM OF:  Eighty DOLLARS	0	EA.	\$ <b>720.00</b>
AND Zero CENTS	9	EA	\$ 120.00
(\$ <u>80.00</u> ) PER UNIT			



ITEM 999: POLICE SERVICES				
THE SUM OF:  Nine Thousand	DOLLARS	1	LS	\$ <b>9,000</b>
AND <u>Zero</u>	CENTS	1		\$ <u></u>
(\$) PER UNIT				
TOTAL BID – ADD ALTER	NATE #1:			
Two Hundred Thirty Five Thousar	nd Thirty	One		DOLLARS
AND Twenty Five				_CENTS
(\$_235,031.25				)
Amount in Figures				



#### ATTACHMENT D BID PRICING SHEET

Bid form must be completed in ink or by typewriter. The bid price for each item on the form shall be stated in figures. Discrepancies between indicated sum of any column(s) and the correct sum of any column(s) will be resolved in favor of the correct sum. Please Attach Additional Sheets if necessary.

#### **BASE BID PRICE**

The Bidder submits this bid proposal to perform all of the work (including labor and materials) as described in the solicitation for this Base Bid Price (including the costs for all Allowances, Incidentals, Bonds, and Addenda):

Total Bid in figures	\$ 1,749,637.25	
Total Bid in words	\$ One Million Seven Hu	ndred Forty Nine Thousand Six Hundred
Thirty Seven Dollars	and Twenty Five Cents	
ADD ALTERNATE #1 PRICE		
Total Bid in figures	\$ 235,031.25	
Total Bid in words	\$ Two Hundred Thirty Fi	ve Thousand Thirty One Dollars and
	Twenty Five Cents	
extruct.	1.	
Signature of individual submitt	ing bid or proposal	
Gregory P. Lynch, Sr.		508-756-6244
Printed Name of individual sub	mitting bid or proposal	Business Phone Number
J.H. Lynch & Sons, Inc.		glynch@jhlynch.com
Printed Name of company sub	nitting bid or proposal	Business Email